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THER W 18 5 4h 2 25 Y 3 B (5] 52 : “ What
does the man/woman mean/suggest?”

A. She agrees with the man.

B. They should ask the typist about it.

C. The typist is very good.

D. The typist is not good.

X R SCH «

M I think we should replace the old type-

writer.

W . Why not the typist?

Q: What does the woman mean?
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Example 1.
A. Running. B. Cycling.
C. Fishing. D. Hunting.

H T R dad 2 0, fE] J R AR AR
TG 3l o
Example 2.
A. A double room.
B. A single room.

C. A room on the top floor.



D. A room on the second floor.

XA ET BRI — 28, HEYW— T E
AT ey RN ER AR BE .
Example 3.

A. The worker had finished loading the

truck.

B. The worker had just started loading the

truck.

C. The worker had gone home.

D. The worker had had a fight with the driver.

FeRARF X A I, 7] K B T A HT R
B4R, RS2 “ The worker had” , ¥ LR #5
EERoBE, mEAEFEX:

A. ...finished loading the truck.

B. ...just started loading the truck.

C. ...gone home.

D. ...had a fight with the driver.

Example 4.

A. Her son must leave for school at 7:30.

B. Her son must go to work at 7:30.

(.. Her husband must have breakfast at 7:30.

D). Her husband must get to office at 7:30.

MWK I F, & T B 5 — % 5> 48 [ (at
7:30),3F H A 1 B W3 A 2 # 4 A 7] (Her
son) ;C 1 D B 5 A 4 ¥ 4 #4H [A] (Her hus-
band) . ARG 2 IS, BHAFXH:

A. ...son... leave for school. ..

B. ...son... go to work. ..

C. ...husband. .. have breakfast. . .

D. ...husband. .. get to office. . .
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1. BREENEREAR
40 : What’s the man doing? (& % 4 &
)
A. He’s working in a hotel.
B. He’s visiting the young people.
(. He's traveling around.
IHEREL A
W . So,how long have you been here?
M. Just a couple of days,actually. I am on
a big journey. You know,I'm visiting all
the places of interest here.
AFEIR—L 5B F R 18 B I 1 &> 44 i
WY B 15 B, H # a big journey, visiting I
places of interest here J&3X {7 58 FiR i i) 4,
BRI, %5 A2 35 2o G HEAT I N K B 2 T | B
HIRTE I F B KR, T &% C.
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#N“ What does the man mean?” X &£ /8 H , H
& EADIR N B2 EEM AL
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W How do you like the play you saw last
night?

M. Well, I should have stayed at home.

Q: What does the man think of the play?

A. It is exciting.

B. It is boring.

C. He didn’t see the play.
D. He likes it very much.

i H“1 should have stayed at home. ” (3
HZRERR) , X EC R MAE
WX H XK, T X BEA R AE R RN B S
(should have done something iX F %5 #4 A F 3k
Xof A% A A T S PR b A & AR I 3 R R 8
18 e EE TT) o BB ™ Az t AR A IR R
148 J&“The play is boring. " ({4 AKM) ,
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A. At the airport.

B. In a restaurant.

C. At the railway station.

D. In a department store.
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What is the man’s answer?
What does the woman want for lunch?
What are they talking about?
What kind of books does the man want to
borrow?
What does the woman tell the man to do
first?

o
TS

&N WA
PORNPPN AL

What are the speakers doing now?
What will happen if John fails the exam?
X PR TR 2 A Ui 4 S48 H b i 48

W EERPAMRT S RN ERRE. RE
B R BER T A AR R AR BT & B
T TR PR 6, 3 2 A 0 B AR L 4 A h R 4R
B0 SFHEFENTSRE I, B0 RORE X S B B
AN L0 9 A 4 S [ 547 4 265 224 o 244 5%
ISR B, LARBRE B4R R FE I M PR . T
BB — R PR REAR RS
R a Y Zho X LR A A T W 3
254 H9 B BT AE .
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What can we learn from the conversation?
What can be concluded from this conver-
sation?
What does the man mean (imply) ?
What does the woman’s answer suggest?
XERRBAEEERFARTHIESTPA
FIEE GERARENAFE L. FEEEH
A BIERNRE BB LU E S E P&
X, T A e SR 8 A B T R B TR BT
RBENERES L. BRTEEE BT WHE
B Rk R B R R A BRI AR Z AN, AT
REEZ LT HES GEAA RMAR:
EEA LAFRBER RO AR B E R
FHE G BRR A ISR A T A, W AT AR R
PREE; AR TR, R R E W& W
A AXHE, RO AEE SR E, T EA
TFHRME, NRAHEMR R EEE
B REAEL XA R E R, — & B iE
BURBEBAWES GBRTRENERES L.
Q (o AR ATE 0
What does the man think of Miss Brown?
What does the woman think of the plan?
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HAF  KEXNZRESEEN, EAERE

(7]



RBEUTEARTEAMUWA B BEE,
4 good, bad, wonderful, excellent, great,
terrible 4§ & 7R B [A] & 2 X 49 i), DL K T
think, in my opinion, I feel..., according
to. .., what I say. .., as far as I know. .. %
KRB RBEE,

HEAPRATTIE ZE T fift— /a8 F BT 40 & (1 2
S S, 40

I have never seen such a film in all my life.

BB ) 2 LR Tt is the best film 1

have ever seen.

O cixtw . .
Where does this conversation most proba-
bly take place?
Where does this conversation most likely
occur?
Where are the man and woman?
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What time. .. ?
When. .. ?
How long. .. ?
What day. .. ?
What date. . . ?

O s A o, -
Why is the man late?
Why did the man repair the car by him-
self?
X Aewp K a) i B 5 H i i 2R E A
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HWHE A NG A ST 4
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A — S ) 5 0 X T AR B 3 I R Ok A
B BRESROC R, X R %5 A Al 12 A # 38
FIBTRAGRZ R 58T RATIER EGBEH
T R 7 IR R € &R iA) A because, for, since,
now that, because of, due to, owing to, on ac-
count of, that is why, cause, give rise to, lead
to, refer to, so, so that, in order that, therefore,
as a result of ,such that, to 2§,
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Who is...?

What is. .. ?

What is the man’s occupation?

What is the man’s job?

What is the relationship between Tom and
Kate?

s 2 H I B2 5R 5 A= BRAR 48 R U5 T
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How did the teacher usually begin his
class?
How does the man usually go to work?

W R EX— R, EEVERE U T —
BeFRIRAT R J5 3 A 1R S T B Bl IR A 4 LA K
FHOAE X B 19 28 35 7 =X, Ul: by bus/take a bus
to.../...on a bus; by car/in a car; by plane/by
air/fly to. .. ; by ship/by sea/... on a ship; on
foot/walk to. .. ; by doing. .. ; through. .. %%,

© xR T,
How does the man feel about the movie?
How do you like the film?
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How many people. . . ?

How many dozens of. .. does... want?

How much does. . . ?
How old is. .. ?
How long does it take. .. to...?
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1. What does the woman mean?
A. She has no time to read.
B. She doesn’t want to read.
C. She wants to read right away.
2. How far was it from Joan’s home to the hospi-
tal?
A. 90 miles. B. 45 miles. (. 180 miles.
3. How much should the skirt have cost?
A. $6. B. $12. C. $24.
4. What'’s the man doing?
A. Borrowing a book.
C. Reading a book.
5. What’s the weather usually like here in June?

B. Warmer and drier.

B. Buying a book.

A. Cooler and drier.

C. Warm and rainy.
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According to the man, who has an injured
back?

A. His wife.

C. His wife’s mother.

What can we learn from the conversation?

B. His wife’s sister.

A. There are not enough gardens.
B. Parking areas are full before 10:00.
C. Parking areas are closed after 10:00.

8. What does the woman mean?

13.

16.

%

A. The presentation will begin at noon.

B. She’ll present her work to the man.

C. She suggests working on the presentation at
12.00 am.

What does the man want to know?

A. The dormitory hours.

B. The problem with the rules.

C. The door number of the dormitory.

. What does the man imply?

A. The chairs didn’t need to be painted.
B. He doesn’t like the color of the chairs.
C. The park could have avoided the prob-

lem.

. Where are the two speakers talking?

A. In the garden.
C. In the garage.

B. In the living room.

. Which of the following sentences about Tom

is true?

A. He is working in Canada now.

B. He has come back from Canada.

C. He went to Japan a few months ago.
Where does the conversation probably take
place?

A. In a classroom. B. In a library.

C. In a bookstore.

. What do the speakers need to buy?

A. A fridge. B. A dinner table.

C. A few chairs.

. How did the woman know about the fire?

A. She read about it.
C. She saw it on TV.
What is the man worried about?

B. She witnessed it.
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17.

19.

20.

21.

A. The match may be delayed.

B. Their car may go out of control.

C. They may arrive late for the game.
Which language does Mr White speak well?

A. French. B. Spanish. C. Japanese.

. How long does it take to London by train?

A. 1 hour. B. 2 hours. C. 3 hours.
What does the woman want to know?

A. When she need meet her brother.

B. How the man got the message.

C. Why her brother called.

What are the two speakers mainly talking
about?

A. Their homework. B. Their professor.
C. Their reading habits.

What did the man win in his dream?

A. A holiday.

C. Some money.

B. A new car.

. How long has the woman been an author?

A. About 30 years. B. About 40 years.
C. About 70 years.

23. What does the woman want?

25.

A. A radio.

C. Some batteries.

B. Some pens.

. What does the man mean?

A. He doesn’t have any notes.

B. He will be absent from class.

C. He can lend the woman his notes.
What is the woman going to do?

A. Prepare a meal. B. Watch a movie.

C. See a doctor.

. What does the man mean?

A. He doesn’t want the women to buy new
CDs any more.
B. The new music is not worth listening to.

C. He doesn’t want to go to the music store at
&

all.

. Where did the woman think they were sup-

posed to meet?
A. At the information desk.
B. On the platform.
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C. On the train.
28. What does Paul do?
A. Making cars.
C. Buying cars.
29. What do you think the man will probably buy?
A. The blue one. B. The black one.
C. Neither.
30. What is the man?
A. He is a secretary.

B. Selling cars.

B. He is an editor.

C. He is a photographer.

K XHE
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1. Where is the woman going now?
A. To London. B. To Birmingham.
C. To South Wales.
How much does the woman pay for the single
ticket?
A. 16 pounds.
C. 64 pounds.
WrsE Bk, [E 3 ~4 /N

3. What does the man want to do?

(]

B. 40 pounds.

A. Go to a supermarket.
B. Buy a pair of new shoes.
C. Have his shoes mended.
4. How far is the supermarket?
A. Two blocks away.  B. Five blocks away.
C. Six blocks away.
WrsE =BeAr gk, [E% S ~6 /M,
5. Where does the conversation take place?
A. In a shopping center.
B. In a food market.
C. At a birthday party.
6. What does the man want to do?
A. To buy a present for his friend.
B. To exchange an article of clothing.
C. To pay some extra money for the present.
WS U BA L, 1 7 ~ 8 /N,
7. Where does the conversation probably take
place?
A. In the store. B. In the lab.
C. On the playground.
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. 8. What is the most probable result of the conver-
sation?
A. The man will play tennis with the woman
on Thursday.
The man will go to the game alone.
The woman will go to the game with
the man.
WrEE T BOAORL, [ 9 ~ 10 /N,
9. Who is the woman talking to?
A. Her husband. B. Her neighbor.
C. Her students.
What is her husband doing?

A. He is painting a picture.

10.

B. He is painting the wall.

C. He is painting the sitting-room.
WrsE A BAT R, B 11 ~ 12 /Mg,
11. What are they talking about?

A. The weather of London.

B. Traveling in Britain.

C. The traffic of London.
12. What does the woman think of the London

buses?

A. Rather slow.

C. Too expensive.
WrsE-LBA L, B 13 ~ 15 /N8,
13. Why was the boy a bit nervous?

B. Very good.

A. He was a new comer to the school.
B.
€-
What must the students do before morning

He was afraid of getting up early.
He didn’t prepare for the exams.
14.
reading?
A. Do morning exercises.
B. Turn in homework.
C. Copy words and expressions.
What can they do if they feel hungry?
A. Have something to eat in class.
B. Buy something to eat during the break.
C. Ask the teacher for some food.
Wr3E N BT L, B2 16 ~ 18 /IVE,
16. Why was Paul angry with Jane?

A. She told the others about his salary.

B. She told Mrs Wallace his salary.
C. She always talks to everybody.
17. Why did Jane tell Mrs Wallace the news ac-

cording to her own explanation?
A.
B.

Because she thought it didn’t matter.
Because she knew everybody would know
at last.
C. Because she got too excited and wasn’t
thinking.
What does Paul mean by “Everyone in this
town got a big nose” 7
A. People in this town have big noses.
B. People in this town are always eager to
know about others’ things.
C. People don’t care about each other.
Wr 2 JLBOAR L, B 19 ~ 21 /NVE,
19. What does “Rogers” mean in this conversa-
tion?
A. Tom’s friend. B. Tom’s teacher.
C. The name of a person.
20. What does Tom tell his mother in yesterday’s
letter?
A. He had made a new discovery.
B. He had lost his new job.

C. He had just bought a car.

21. Why does Tom tell his mother about his job?

A. Because he doesn’ t want her to worry
about his job.

B. Because he doesn’t want her to worry

about his life.
C. Because he doesn’t want her to worry

about his marriage.

Wr s+ Bk, [E12 22 ~23 /M,
22. What are the two speakers doing?

A. Visiting a place of interest.

B. Checking a building.

C. Having a swim.

What do you know about the woman?
A. She’s very glad.

B. She feels disappointed.

C. She thinks the building charming.
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24. What is the woman going to do?

A. Attend a party. B. Take a holiday.
C. Go on a business trip.

25. When does the woman plan to arrive?

A. Late Friday. B. Midday Saturday.

C. Saturday night.

26. What is the weather like in the town during
the day?
A. Cold. B. Wet. C. Warm.

Wrss+ Bk, [ 27 ~ 28 /N,
27. Why doesn’t Barbara take a plane?

A. She can save time.

B. She’s afraid of flying.

C. She enjoys ocean liner.

28. What could Barbara be doing?

A. She must be sitting in the sun.

B. She must be dancing.

C. She must be sleeping.
WS+ = Bobb R, 1 29 ~30 /MEL
29. What’s wrong with the girl?

A. She feels lonely.
B. She has a mental disease.
C. She has an unknown disease.
. What does the doctor suggest?
A. Early and proper training.
B. Finding the reason for the disease.
C. Giving her a better social life.
WS+ U B R, [ 31 ~ 32 /N
31. Why did Gerry come to the meeting?
A. She ate some fish and felt sick.
B. She had a traffic accident.
C. She forgot the time of the meeting.
32. What does John think of Gerry?

A. He is pleased with her.

B. He is sorry for her.

C. He is dissatisfied with her.

W SR+ B, 1% 33 ~ 35 /ML,
33. Why does the woman decide to go to the

Great Wall?

A. She heard a lot about it.
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B. She had taken some pictures of it.

C. She just wanted to accompany ( f%[F]) the
man.

Where will they have their lunch?

A. In the hotel.

B. In a certain restaurant.

C. On the Great Wall.

Which season of the year is it when they travel?

Winter.

34.

35.

A. Summer. B. Autumn. C.

00000008
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1. How many points does a misspelled word cost?
A. 2 points.  B. 3 points. C. 5 points.
2. What are the students going to do on Friday?
A. Read a short story.
B. Take a major test.
C. Write an essay.
3. When was this lecture given?
A. On Monday. B. On Wednesday.
C. On Friday.
WrsE B, B 4 ~7 /NE
4. What is the first news headline about?
A. Street violence.
B. Personal safety.
C. Students’ health.
5. Why did some parents gather at schools in
Glasgow?
A. To prevent the close-down of the schools.
B. To call for better primary education.
C. To participate in school activities.
6. What are the litter pickers doing?
A. Collecting private rubbish.
B. Having a one-day break.
C. Cleaning themselves up.
7. Which two teams will play in the European
Cup final?
A. AC Milan and Barcelona.
B. Barcelona and Liverpool.
C. Liverpool and AC Milan.
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_ added to soil
to improve it. Compost is produced when bacteria
and fungi( HF) 2

3, earthworms and other organisms. This

Compost is a dark, rich 1

organic matter, aided by

natural 4  returns nutrients to the soil. 5

for every fifteen centimeters of turned soil.

W58 — BAARE , BT S £ P 2 v R B L B
BHE 6 ~10 /INERNFESERE , WT F1BERHE P .
On Tuesday, 6

Obama announced a plan
to invest 7  dollars in community colleges

over the next ten years. The 8 is to help an

additional five million students 9  degrees or

certificates. The president said 10  are ex-
pected to grow twice as fast in the coming years as

jobs requiring no college experience.
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Many people consider themselves 11 |
the most important person. They are always loo-
number one.

person on

king out for number one and 12
It is as if they are the one and 13
the earth. Some people, 14

centered. 15

, are not so self-
. It is true—no joke. I am not

trying to pull a fast one on you.
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Fans around the world 16  Michael
Jackson’s death. Prisoners in a jail in the Philip-
pines |7  for him. Fans in Paris, France at-
tended a service at the city’s ancient religious
center 18 . Famous performers around the

world told about the 19 he had on their
work. Michael Jackson left a huge mark on popu-
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lar culture. 20
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Angel
Spend all your time waiting for that second chance
For 21  that would make it okay

There’s always some reason to feel not good enough
And it’s hard at the end of the day

I need some 22  or beautiful release

Memories seep from my veins
Let me be empty and weightless

And maybe I'll find some peace tonight

In the arms of an angel
23 from here
From this dark cold hotel room
And the endlessness that you fear
You are pulled from the wreckage of your 24
reverie
You're in the arms of the angel
25
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Google, the Internet search 26 | will
now offer a free operating system for personal
hopes to loosen

Microsoft Win-

computers. The 27
Microsoft’s hold on the market.
dows is on more than 28  percent of PCs.
Google is basing the new 29  on its Chrome
Web browser and the Linux open-source operating
system. The Google Chrome OS is expected to be
available 30

W SE-L B RE , BT T 2 £ P 2 rh RO B2
B 31 ~ 35 /N AD 78 SE B, W 0 ARk
Pk o

Obama was born in-1961, to an African fa-



